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SL. No. 4

B-DTN-J-1JB

HISTORY
Paper 11

Time Allowed : Three Hours| | Maximum Marks : 300

INSTRUCTIONS

. Each question is printed both in Hindi and
in English.

Answers must be written in the medium
specified in the Admission Certificate issued
to you, which must be stated clearly on the
cover of the answer-book in the space
provided for the purpose. No marks will be
given for the answers written in a medium
other than that specified in the Admission
Certificate.

Candidates should attempt Question Nos. 1
and 5 which are compulsory, and any three
of the remaining questions selecting at least
one question from each Section.

The number of marks carried by each
question is indicated at the end of the
question.
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Section ‘A’

(Modern India)

1. Comment on any three of the following statements
in about 200 words each : 20x3=60

(a)

(b)

(d)

(b)

(c) .

“Though the Permanent Settlement had serious
defects, it gave tranquillity to the countryside
and stability to the government.”

“The Arya Samaj may quite logically be
pronounced as the outcome of conditions -
imported into India by the west.”

(Lala Lajpat Rai)

“Please remember, in granting separate
electorates we are sowing the dragon’s teeth
and the harvest will be bitter.” (Morley)

“The annexation of Awadh shook the loyalty
of the Sepoys, as it was for them an ultimate
proof of untrustworthiness of the British.”

Why was Mysore considered a threat by the
British to their possessions and mercantile
interests in the south. Do you think that Tipu
Sultan’s posturing became his undoing ? 30

How did the East India Company become the
dejure power in India ? . 130
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1. Frafafaa § & St drer FaAT ax Rooir g, s
g ST 200 551 & T 9118 20%3=60

(%) *‘gaft et SEEE ¥ TR AW F, Tty IEr
TATHIOT 5T T 9T 3 a3 & q1iaE 9g=
frar )’

(@) ‘‘omf wwTer @t fawge adea &9 &, 9w
gRT WA ® Irarfaa el & gformT & &7 |
aifya ffrar srawar @17 (STeT dga Td)

(1) “‘guar g e & gus Fatas anf a6 sy
TET A o9 S99 & aidl HY g9 F ® €
iR fF Iar et & anir |’ (wrer)

(7) ‘s F gumew A fGuofear & At &

#wize fEar a1, Mifs =% fou ag @t &
Afayaaraar &1 us sifaw areg ar

2. (F) Far &wor 97 & siirer fq =1 aféror & spaw siferga
g R IR et F v o sarama ¥ 7
T ATYh fa=R / 219 gear g 9747 1471 &6

& 3aa famer T oy 74T ? 30
(@) $e e St e gaR wra & faftre: afts

T T A9r ? 30
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3. (a)

(b)

(b)

How did social legislation in the nineteenth
century improve the condition of women in

India ? 30
Analyse the social composition of the early
Congress leadership. 30
Discuss as to why the Congress accepted the
partition of India in 1947. . 30
Do you think that the Quit India movement
was a Spontaneous Revolution ? 30
Section ‘B’

(World History)

Comment on any rhree of the following statements

in about 200 words each : 20%3=60

(a)

(b)

(c)

(d)

“The capitalism which gave the European
empires their apparent solidarity and perma-
nence also hastened their downfall.”

“In all the long annals of Imperialism, the
partition of Africa is a remarkable freak.”

“Hitler did not really want a world war. His
intention was only a short war with Poland.”
(A. J. P. Taylor)

“Arab nationalism and oil — these were the
principal factors in complicating the relations
of middle eastern countries with the outside
world.”
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3. (%) I¥igal sarsar § gt Fum ¥ 5 ger)
WK # wfeerell it gur gay 4 ? 30
(@) gRfser &9 Aga & | g9 HT

fereersor Siferg | 30

4. (%) ==t A & 1947 F FAF T TR &7 fawrew
fre o & =R fomar ar ? 30

(@) =1 v R & ‘9Ra IR ARed @&
TR Hid 4f 7 30

quE ‘q
(e sfagm™)

5. frafafaa & & =t dt yAT o oo fifsma, it
goleh ST 200 STsa1 | &Y : 20%3=60

() ““Fora goftare 3 gAd GrETSAT ST IThT FTHTET
Terar 3R enfae e fHar an, SEr geiae |
I g &t i AT AW F ar Aar |’ '

(@) “‘gragaKT F R |« Ifagar ®#, ST &

| e uw SgeET sl s veAT #)

(1) ‘‘fEeer areaa ¥ fang gg A€l Arear o1 | ST
aT Qe F G Fad UF G g8 & o
g ' (T.S.91. 2eR)

(%) *‘oa TeEEaT R At — Weg gt a9l & Sred
HOR F AT gEdl H SAwd a1 A § g€l
T FE o |
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(b)

(b)

(b)

Discuss the emergence of neo-imperialism in
the late nineteenth century. 30

What was the extent of industrialization in
western Europe by the end of the nineteenth
century ? 30

How did Napoleon Bonaparte fuse the old
France with the new ? 30

Why did Vietnam go through thirty years of
war after the seconld world war ? 30

Account for the overthrow of the Tsarist
regime in Russia. _ - 30

Examine the peace-keeping efforts of the
United Nations Organization. 30
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6. (F) S=aET ATl & IU" H AF-AEIAR *
IEHA 9T =1 Hifory | 30

(@) I=iEal yamesr & d ds. 9fwHr gu9 ®
sAgariter & fohamT faea) ot ? 30

7. (F) Adifoma SEE ¥ =9 BH & G99 HE &
ara fore g werfora femar ar 7 30

(@) faaa fana gg & =T SFaaT™ & de aut &
g F AAAT 99T 4T 7 30

8. (F) &9 ¥ WARAE! yEA & d&qr I fJu s+ &
O hY FATITC | 30

(@) 9gch TS TIST & Sifa-ARE ggTEr & v
qteror g | 30
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HAA

gaF 997 gt 3 st g1 & 29T 2/

gl & FAX JET @A ¥ fo@ s+ =@z
foraesT SeorE AT9% gay-97 & faar 14 g,
R 5T ATEAH FT TIE Feoh@ Ial-JEdE &
HE-98 9T dfea fAlae & 93 f&ar s
F1ET | 9397-97 9T Ifcorfaa Areas & sifales
I fFdt angw 7 fod 17 9% ) FiT HE
et fae |

QT FEET ] R S5 HfAad & | Frbr gt 7 &
gl GUS & FH-T-FH T 997 FAH< [Feal
it gt & IO} Eifar |

IAF 997 & [T (A9 3isk 997 & sia & fauw v
gl -

Note : English version of the Instructions is printed on
the front cover of this question paper.




